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1 BIES 1kg 1 |®ES 1keg
2 |EEf 1kg 2 |EFfE Pl 411] 1kg 2,376 1,404
3 Kahvh kg 3 Kahvb 1kg
4 |&F B 123 207| 1kg 2,776 324| 4 |sI1F 1keg
5 [HL RG-Sl 130] 1kg 2,916 486| 5 |&HL 1kg
6 [LvbL B 200| 1kg 432 378 6 |LvbL 1keg
1 [F2H0H Tkg 7 |[F5HULH Tkg
SAE 1kg 8 |SAE 1keg
9 |3Y 'BH 170] 1kg 3,024 324 9 |3 kg
10 |&ZL alll 30| kg 680 10 |&ZL 1keg
1 |28 Ri& 58| kg 594 486| 11 |h2& kg
12 |f=Ly == 324| 1kg 1,404 918| 12 |f=Ly kg
13 |IFFL =0 34| kg 1,782 13 |IFFL 1keg
14 |Hhily =84 24| kg 540 14 |Hhily 1kg
15 [OH& 1keg 15 | 058 =81 27| 1kg 2,754 1,782
16 | AN Tkg 16 | AN Tkg
17 |2Y 1kg 17 |2 U 1keg
18 | YLy Tkg 18 | YLy Tkg
19 |f=C itigiE 14| kg 3,240 19 |2 1kg
20 & Tkg 20 |vE Tkg
21 |HSY - 5 30| kg 2,700 1,404| 21 |y 1kg
22 | RAHWP 158 22 |\ XRHYP | KB 23| 158 16,200 1,620
23 |BEHP | B 133| 1kg 2,592 23 | BEHP Tkg
24 | E B4 - hE 225| kg 6,102 4,482| 24 |575F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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1 |&aST Y7 -7Y 563| kg 2,808 1,836 1 |{E=x(+ A 1,278| 1kg 1,944 756
2 |AhIz BE-0v7 61| 1kg 8,100 4320 2 [ExE Ihy=- 279| 1kg 1,318 864
3 |MAY  |=momen 683 1kg 4,320 2,052| 3 |iESAE 1keg
4 AFLbL| SR 168| 1ke 184
5 |FAHL  |mm@E-8iR 270] 1#& 886 130
6 [ bYDHA == 10| 1ke 2,646
1_|IhNEF Tkg




